Direction: Simplify by performing the indicated operations.

1)
$$3\times2\times1=$$

2)
$$(-1) \times 4 \times (-2) =$$

3)
$$7 \div (-7) =$$

4)
$$(-14) \div (-7) \div (-1) =$$

$$5) \quad \frac{(6)\times(-3)}{-2} =$$

6)
$$\frac{(-1)\times(-2)\times(-3)\times(-4)}{27\div(-9)} =$$

Direction: Simplify by performing the indicated operations.

1)
$$3 \times 2 \times 1 = 6$$

2)
$$(-1) \times 4 \times (-2) = 8$$

3)
$$7 \div (-7) = -1$$

4)
$$(-14) \div (-7) \div (-1) = -2$$

5)
$$\frac{(6) \times (-3)}{-2} = -9$$

6)
$$\frac{(-1)\times(-2)\times(-3)\times(-4)}{27\div(-9)} = -8$$